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Solve the partial differential equation x2—2+ y—=z-1.
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Solve the partial differential equation -3 +2—=¢"".
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B, — 2XU, + XU = (X — 2)" e o

(2] u=eq (X)+xe”g, (x)+e>?
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Solve the following initial value problem 0 I+lﬂ+iza fZ:O, @:20050 for
o~ ror r°oé or

r=2, f=3cosd as r—ow for the function f(r,0) defined in the region

2<r<ow, 0<@<2z ofaplane, for which (r,8) is the polar coordinates. [92 *F"[
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WHH U, +u,, =u, [ R R

B.C.. u(0,y,t)=0, u(Ly,t)=0, u(x,0t)=0, u(x,Lt)=0,

1.C.: u(x,¥,0)=0, u(xy,0)=g(xy),

9 (y) BRI > e e sy

u(x yt) Z‘i Z;D sin(mzx)sin(nzy)sin( %ﬁLl'Dmn%[l o FURESAGE
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The displacement u(x,t) of a semi-infinite is governed by the following partial
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differential equatlonczaTzﬁ, x>0, t>0, where c is a constant. With the
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au(x,0)

initial conditions u(x,O) =0, =0 and the excitation f(t) at one end of

string, that is, u(0,t)=f(t) then, what is the solution of u(x,t)? [91 15+ 47
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[*ZN%E@FAT] u(x,t): f(t—fj, t>5 or 0, t<5
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